EARAROBEEIERT — 2 N— IBISH —F

2019574158 (B) SEIEER6H

m:j—\'r/\“/ JsC C1 H>%—@ \ [X2) W \ [l  — | 4 (%) 12000 BBE
[AE£] 1% :450,000 ™ ~ 2#&:117,000 @ ~ 33#&:63,000  ~ 43#&:45,000™ 5 3&:22,000 ™
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
- — FER :13. - . - REMR (KR
1l8l12 FINIAF Ty = — 4 4 by 1(1_3)1 3-1 37.6 3 go) i
R:F4—TTUSLT BTLT—30 HAEHS
NN o He :13. - . - ZHEE (KR)
2 73Ny bINTF " 5.0 1 (153)9 o9 o o f;) #%) 771>7
R:bTLELR BiarNy kTR Il $k—
e e — i 4 | BUIER :13.9 2-1 38.5| — 5 445 | TEBR (KR)
38|11 LT ¥Hr—K=—} 54.0 () Lo | B
R:ZZAYLR B:AAYavFF40 =Is4is
. 2 44 | EEERR 1:14.0 7-6 37.3| — 10 | 467 |$AEEE (KiR)
a7l | PrTr22—451 5.0 () oy |EAER
L:TANWNTTFH— B:vA4xHT)—-X 17 45
- KHERE 114, - . — BEEE (KR)
. 3| Fa—TIuq it 4 xR 1(11/42)1 10-10 | 36.7 9 ;1;96) ;ﬁ_gﬁ
RWN—=F—=29 T BRATAT7ILT WeESHUE
. ;— 4 7 | BEY 1:14.2 7-8 37.4| — 4 470 | HRIEFRI (KIR)
6|11 |FvIA-—FT7=—F 56.0 (172) Ca | (B Y PN
R:TANET Yy a2 B RU—LEy b e T7—L
3 . 46 | JIIERHE 1:14.4 4-4 38.6| — 1 485 | IVMMRE (KIR)
77|10 7RB/ KT > (1 1/4) (-a) | BlHED
LixrveHs/EeE BFAOSERIC KR s
=3, q9=_5 # 5 | ZHE 1:14.6 5-5 38.5| — 2 454 |1 EEFE (KR)
8/5|5 92 AT=2= 56.0 1) (-2) k%gi? ’
LT RIAYAY -2 BiSYr—XT—F— BEZX 2 Y K
s = 7 | FlaEX 1:14.7 1-11 7. — 7 4 ZHEE (KiR)
o2 *T>¥avT>HY R (3/4) o (_623; ) 7T
AL aIYLYY BiALYa T ke
;= s 5 | WO 1:14.9 6-7 38.4| — 1| 445 |RIEHH OKR)
1PN 4| 77—E> 54.0 a 1/4) (-g) |HmAItE
LN=VI74 B:xFhINYT BT 7 —L4
5 - it 4 | RAIEEA 1:15.0 1-3 39.7] — 8 437 | BIEHE (KR)
11 6l ~¥>3 )74 54.0 (1/2) 1) KEEEF
R:IA>T7Fya B:70-FWISLZX FVALT7—L
i X 4 e _ _ — — — — | BRAS (KR)
™ s K ) EF s 56.0EI (BH) (—) fz%l“ﬁ% ’
L:ANT =TIV B:UDT =i wiE
® I —F—EBIERL
13—7—
23—7F—
G§a=7r= 6,11,12,10,5,4,(1,9),7,3,2
41—+ — (11,12),6,10,5,9,4,1,7,3,2
[ RN
B OB 12 780M 714K 7-12 1,290H e & 6-8 3,520 &R 7-11-12 18,380M
8 B 12 290M 11-12 980M B E 7-12 5,400 JEH 12-7-11 107,700M
7 510/ 7-11 2,640 B H 12-7 10,870M
1 350M

ABICOVWTRDTEEERROODE. TR LIV,




